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N.B. :— (i) Question No. 1 is compulsory.

(i1) All questions carry equal marks.
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1. What is dividend ? Explain the factors affecting dividend policy. 15
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2. State the problems in determination of cost of capital. 15
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Or
(fenam)

Define cost of capital. Explain the significance of cost of capital.
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What is financial leverage ? State its types. 15
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Or
(feram)

What is working capital ? Explain the objectives of working capital.
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Calculate the approximate cost of companies debenture capital when its decides
to issue 10000 Nos. of 14% non-convertible debentures, each of face value
Rs. 100 at par. The debentures are redeemable at a premium of 10% after
10 years. The average realization is expected to be Rs. 92 per debenture and

the tax rate applicable to the company is 40%. 15
Or

The following are the operating result of a firm :

Sales (units) 50,000
Interest per annum Rs. 60,000
Selling price per unit Rs. 25
Tax rate 50%
Variable cost per unit Rs. 20
No. of equity shares 10,000
Fixed cost per annum Rs. 1,00,000

Compute : Operating leverage and financial leverage.
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5. Write short notes on any two of the following : 15
@) Stable dividend policy
(1) Cash budget
(zii)  Modigliani-Miller model

(tv)  Conservative approach in working capital.
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